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Quiz 2
Name

No notes or calculators. Show all work. Note: boldface variables, such as v, represent
vectors.

1. bOints) Find the dot product of the vectors

u = (2, -1,4) v=(-5,2,-1)
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2. ~oints) Find a vector that is orthogonal to the given vectors.

u = (2, -1,0)
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v=(-3,2,-1)

G.. v« c:tO("

\ - ~ -~ \ \ - \ -; ~I \ ~ ~ \ ~3-~ \ l
( \ - ~) ~ - C - ~ - Q') 3 4- ( 4 -~s))~
\~-\-2J-+_I.t
<"\\2.)\{

3. ~oints) Find the equation of the line though the point (3,1, -6) and in the direction
of the vector (3, -2, 6)
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